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Solutions to Example 1:
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· Example 2
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Solutions to Example 2:
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· Example 3
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Solutions to Example 3:
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‘When powers have the same base, — = 2"
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Let's apply that rule to our equation, 40

o
'We can solve for z with the equation, 6 — 2 = 0.
6-2=0

z=6
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Simplify.
Rewrite the expression in the form z".
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‘This follows from the general rule — = ™" Note that the powers have the same base.

‘We can also see this is correct by expanding the powers.
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In conclusion, — = &
E:
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Simplify.
Rewrite the expression in the form a”.
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